Vx =(Vx’ + u)/(1+VX’u/c2)
VY =VY’/(1+VX’u/c2)

VZ =VZ’/(1+VX’u/c2)
dx/dt=γ(dx’ + udt’)/γ(dt’ + udx’/c2)=

dt’(dx’/dt’ + u)/dt’(1 + udx’/dt’/c2)= (Vx’ + 
u)/(1+VX’u/c2, G.E.D.. 
AMPER FORCE
 d2F=-kII’/r3{2r(ds.ds’)-3(r.ds)(r.ds’)/r}
I=dq/dt, I’=dq’/dt, u=ds/dt, u’=ds’dt 
d2F=-kdq/dtdq’/dt/r3{2r(ds.ds’)-3(r.ds)(r.ds’)/r}
d2F=-kdq/dtdq’/dt/r3{2r(ds.ds’)-3(r.ds)(r.ds’)/r}
d2F=-kdq/dtdq’/dt/r3{2r(ds.ds’)-3(r.ds)(r.ds’)/r}     or
d2F=-kdqdq’/r3{2r(ds/dt.ds’/dt)-3(r.ds/dt)(r.ds’/dt)/r}    or
d2F =-Kdqdq/r3{2r(u.u’)-3(r.u)(r.u’)/r}
 Phys. Essays 3, 211 (1990)
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ΕΙΔΙΚΩΣ

Β’=γ(ΕXV)/C2 ?, ME B=0,i.e.,initially stationary.
γ =1+1/2V/c)2…
B’= =(1+1/2(V/c)2…)(EXV)/C2=(EXV)/C2+(1/2v2/c2) (EXV)/C2= (EXV)/C2+(EXV/C2)1/2V2/c2…=BΠΑΛΙΟ+BΠΑΛΙΟ1/2 V2/c2…ΑΡΑ V=πρεπει να είναι  καθετο στο B’ = V, ΠΟΥ ΕΙΝΑΙ ΕΞ ΟΡΙΣΜΟΥ
ΤΟΥ ΕΞΩΤΕΡΙΚΟΥ ΓΙΝΟΜΕΝΟΥ.
ΑΝ V=C, TOTE B’ AΠEIΡON!, INFINITY!. ΠΟΥ ΘΑ ΕΠΡΕΠΕ ΝΑ ΦΑΙΝΕΤΑΙ, ΟΤΙ ΤΟ ΜΑΓΝΗΤΙΚΟ ΠΕΔΙΟ ΔΕΝ ΕΞΑΡΤΑΤΑΙ ΜΟΝΟΑΠΟ ΤΙΣ ΑΜΠΕΡΟΣΤΡΟΦΕΣ ΑΛΛΑ ΚΑΙ ΑΠΟ ΤΗΝ ΤΑΧΥΤΗΤΑ ΚΑΙ ΤΙΜΗ ΤΟΥ γ ΤΩΝ ΦΟΡΕΩΝ!
ΚΙΝΗΤΙΚΗ ΕΝΕΡΓΙΑ ΦΟΡΕΩΝ = γmc2-mc2 = 
= mc2(γ-1) = mc2(1/(1 – v2/c2)1/2 -1) =
mc2 (1- (1- v2/c2)1/2) / (1- v2/c2)1/2 =Vq, AN, 
(1- v2/c2)1/2=sin(φ), τοτε v/c= cos(φ) αρα
(1-sin(φ))/sin(φ) αρα 1/sin(φ)=Vq/mc2  + 1, αρα
sin(φ)=1/(Vq/mc2 +1), v=cos(φ)c, π.χ., ΠΑΝΤΑ γ>1,  θελουμε γ=2,
sin(φ)=1/2, φ=300, cos(φ)=(1-1/4)1/2=31/2/2, v= 300.000x31/2/2   Km/sec, με Vq/mc2 =γ-1 =2-1=1
V= mc2/q, με m μαζα φορεως, (ηλεκτρονιου)=, me   =      9,1093897 X10 –31 kg, q φορτιο φορεως, (ηλεκτρονιου)= e = 1,60217733x10- 19 cb, c ταχυτης, που λεγεται ταχυτης φωτος=  C  =        299.792.458    m  s  -1  
ΑΡΑ   V= mc2/q= 9,1093897 X10 –31 kg ( 299.792.458    m  s  -1)2/1,60217733x10- 19 cb=9x9/1,6x10 –31x1010x1019=108 volts περιπου=100 εκατομμύρια volts.
ΓΙΑ γ=2,  Vq/mc2 =1+1/2-1=1/2
V= mc2/2q= 50 εκατομμυρια volts 
ΓΙΑ ΤΥΧΟΝ γ>1, Vq/mc2 =γ-1
V=(γ-1) mc2/q=(γ-1)x1oo εκατομμυρια volts.
ΠΡΕΠΕΙ ΝΑ ΕΠΙΣΗΜΑΝΘΕΙ ΣΑΝ ΠΡΑΚΤΙΚΑ ΣΗΜΑΝΤΙΚΟ ΚΑΙ ΝΑ ΕΙΝΑΙ ΓΝΩΣΤΟ ΣΤΟ CERN ΠΟY ΑΣΧΟΛΕΙΤΑΙ ΜΕ TERA VOLTS,
ΠΟΛΛΑ 1012 VOLTS
Force
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, ΤΗΕ ΙDENTITY:
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Consequently in some old texts, γ3m is referred to as the longitudinal mass, and γm is referred to as the transverse mass, which is numerically the same as the relativistic mass. See mass in special relativity
In special relativity, Newton's second law does not hold in its form F = ma, but it does if it is expressed as
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where p is the momentum as defined above ([image: image10.png]


) and "m" is the invariant mass. Thus, the force is given by
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Carrying out the derivatives gives
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which, taking into account the identity [image: image13.png]


, can also be expressed as
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If the acceleration is separated into the part parallel to the velocity and the part perpendicular to it, one gets
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Consequently in some old texts, γ3m is referred to as the longitudinal mass, and γm is referred to as the transverse mass, which is numerically the same as the relativistic mass. See mass in special relativity.

